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Congestion Control Policy 1
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Congestion Control Policy 2

[Statistics Mask: (1,0, 1,1, 1]

[Statistics Mask: [1, 0, 0, 0, 0]

(Optimization:
- variable(s): w,
- objective: maximize w,
- constraints:
(i) 4 <w, <20

(i) vl e L,

U) x (1 +wo x E(1) x F(1)) <T70%

-

Optimization:

- variable(s): null
- objective: null
- constraints:

Vie L, Ul) < 80%

J

Mapping Rule(s):

\

{1..4}: (TRUE) = _init. cwnd =5

{5..8}: (_drop<1%)=>_init_cwnd = ['w, ]

Mapping Rule(s):
{1..8}: (TRUE) = _tcp_variant = CUBIC

&

f CUE 1

&

| CUE 2

Update Rule:
(_drop < 1%) = _init_cwnd = 12

]J

Update Rule:
(TRUE) = _tcp_variant = CUBIC
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